The control tasks on theme:

Diseases of vascular tract
TESTS:

1. The richest capillary part of eyeball is:

1. Cornea.

2. Sclera.

3. Lens.

4. Iris.

5. Vitreous.

2. A pus in the anterior chamber is called

1. Endophthalmitis.

2. Exophthalmitis.

3. Buphthalmis.

4. Hyphema.

5. Hypopyon.

3. A blood in the anterior chamber is called

1. Endophthalmitis.

2. Exophthalmitis.

3. Buphthalmis.

4. Hyphema.

5. Hypopyon.

4. What is not anti-iflammatory medication?
1. Butadion.
2. Aspirin.
3. Indometacin.

4. Pyrogenal.

5. Metindol.
5. At iridocyclitis do not prescribe:

1. 1% atropinum.

2. 1% pilocarpinum.

3. 30% albucid.

4. 0,25 % Zinci sulfate.

5. 0,25 % hydrocortisone emulsion.

6. The choroid doesn't contain the following anatomic structure:

1. Suprachoroidea.

2. Large vessels.

3. Medium vessels.

4. Nerve fibers.

5. Choriocapillaries.

7. What complications may be observed on the retina and in the optic nerve in case of uveitis?

1. Papillitis.

2. Sympathic inflammation.

3. Retinal detachment.

4. Spasm of accommodation.

5. Posterior staphyloma.

8. At which disease can you observe posterior synechias and precipitates?

1. Acute conjunctivitis.

2. Dendiform herpetic keratitis.

3. Iritis.

4. Iridocyclitis.

5. Chorioretinitis.

9. Basic function of the iris

1. Physiological diaphragm.

2. Protective.

3. Production of the aqueous liquid.

4. Optical.

5. Trophic.

10. Post-traumatic iridocyclitis can be complicated…

1. By thrombosis of the cavernous sinus.

2. By sympathetic ophthalmitis.

3. By effusion of blood in vitreous body.

4. By effusion of blood in retina.

5. Phlegmone of the orbit.

11. In case of iridocyclitis do not prescribe

1. 1% atropine.

2. 1% pilocarpine.

3. 3% sulphacetamide.

4. 0,25% zinc sulfate.

5. 0.25% hydrocortisone emulsion.

12. Festering inflammation of the inner layer of the eye is called

1. Endophthalmitis.

2. Exophthalmitis.

3. Buphthalmis.

4. Hyphema.

5. Hypopyon.

13. At which disease palpation of eyeball is painful?


1. Tree-like keratitis.




2. Cyclitis.




3. Chorioiditis.




4. Cataract.

5. Glaucoma.

14. In which case should we use ophthalmoscopia for diagnostics?




1. Tree-like keratitis.




2. Iridocyclitis.




3. Chorioiditis.




4. Blepharitis.

5. Conjunctivitis.

15. At which disease there are synechias and precipitates?

1. Acute conjuctivitis.

2. Herpetic ceratitis.

3. Gonoblennorhea.

4. Iridocyclitis.

5. Choryoretinitis.

16. For what disease myosis is very characteristic?

1. Keratitis.

2. Iridocyclitis.

3. Choroiditis.

4. Cataract.

5. Acuity attack of glaucoma.

17. Aniridia is:

1. Irregular lash growth.

2. Lens absence.

3. Limited defect on eye-shot.

4. Half-limited eye-shot.

5. Iris absence.

18. The pus in anterior camera is called:

1. Endophthalmitis.

2. Exophthalmitis.

3. Buphtalmos.

4. Hyphema.

5. Hypophion.

19. Purulent inflammation of internal tunics of an eye is called:

1. Endophthalmitis.

2. Exophthalmitis.

3. Buphtalmos.

4. Hyphema.

5. Hypophion.

20. Which disease may be complicated by hypopion?




1. Tree-like keratitis..




2. Iridocyclitis.




3. Chorioiditis.




4. Cataract.




5. Meibomianitis. 

21. What is not typical for iridocyclitis?

1. Posterior synechia.

2. Hypopion.

3. Opacities in the vitreous.

4. Precipitates.

5. Symblepharon.

22. Festering inflammation of the inner layer of the eye is called

1. Endophthalmitis.

2. Exophthalmitis.

3. Buphthalmis.

4. Hyphema.

5. Hypopyon.

23. In which disease palpation of eyeball is painful?


1. Tree-like keratitis.




2. Cyclitis.




3. Chorioiditis.




4. Cataract.

5. Glaucoma.

TASKS: 
1. Patient K., 28 years old, complains of pain, redness, vision lowering of right eye. Vis OD=0,04, isn’t corrected, mixed injection of the eyeball. Big precipitates on posterior cornea surface, hypopion, diffuse turbidity in vitreous body. Details of eye-fundus are not visible. Eye pressure = 22 mm Hg. What is the diagnosis?

1. Cornea ulcer.

2. Endophthalmitis.

3. Acute iridocyclitis.

4. Vitreous body destruction.

5. Acute conjunctivitis.

2. Patient A, 23 years old complains of pain, lowering of vision of right eye. Objectively - mixed injection, precipitates on endothelium, myosis, pupil has irregular form, vitreous body opacity. Eye pressure is 18 mm Hg. What is the diagnosis?

1. Keratitis.

2. Iridocyclitis. 

3. Acute glaucoma. 

4. Acute conjuctivitis.  

5. Cornea ulcer. 

3. Complains on vision lowering in right eye. Examination results: vis OD = 0,1, isn’t corrected, mixed injection, big half – pellucid precipitates on posterior cornea sulface, exudation on anterior lens surface, floating blur in vitreous body. On the eye-fundus – grey focus with not clear borders. What is the diagnosis?

1. Iridocyclitis.

2. Endophthalmitis.

3. Panuveitis.

4. Choryoretinitis.

5. Melanoblastoma.

4. Patient Z., 40 years old, suffers from rheumatism, complains of sever pain in the left eye, especially at night, vision lowering, photophobia, tear-flowing. Examination results: weak pericorneal injection, smoth iris, change of its color. What is the diagnosis?

1. Conjunctivitis.

2. Iritis.

3. Keratitis.

4. Iridocyclitis.

5. Dacrioadenitis.

5. Patient L., 27 years old, complains of pain in the right eye, stronger in the night, vision lowering, photophobia, tear-flowing. He had influenza a week ago. Examination results: palpebral fissure is narrowed, narrow pupil, color of iris is changed, the containts of anterior chamber is turbid. Ciliary body is pain-fullness. What is the diagnosis?

1. Iridocyclitis.

2. Iritis.

3. Keratitis.

4. Conjunctivitis.

5. Dacrioadenitis.

6. Patient A., 29 years old, complains of vision lowering, periodically appearing pain, redness of right eye last 6 years. Examination results: vis OD=0,1. Pericorneal injection of the eye-ball. Corneal precipitates. Pupil is without synechia, iris is lighter then in the left eye. Passing light – blurring of posterior lens capsule, vitreous body. IOP – 29 mm Hg. What is the diagnosis?

1. Heterochromatic Fux’s cyclitis.

2. Acute iridocyclitis, complicated by ophthalmohypertension.

3. Acute attack of primary glaucoma.

4. Glaucoma cyclic crisis.

5. Steele syndrome.

7. Man 45 years old, had acute maxillary sinusitis. He complains of redness of right eye, sever pain in it and lowering of vision. The diagnosis: acute iridocyclitis of right eye. What medicaments are necessary for instillation into the right eye immediately?

1. sol. atropinum sulfate

2. sol. pylocarpinum hydrochloride

3. sol. chininum hydrochloride

4. sol. kalium iodide

5. sol. sulfacilum natium

8. Patient A, 57 years old, during last 8-9 years suffers from recurrent uveitis of both eyes. History: polyarthritis. Vis OD=0,02; correction doesn’t improve, fields of vision are normal. Pigment precipitates on posterior cornea surface, multiple posterior synechias and cataract in right eye. IOP OD=31,0 mm Hg; OS=22,0 mm Hg. What is the treatment?

1. Anti-inflammative therapy.

2. Hypotensive medicaments for left eye.

3. Laser-therapy.

4. Definition of invalid group.

5. Surgical.

9. A child S., 5 years old, complains of pain and redness of right eye. Examination results: Vis OS=0,8, without correction, photophobia, lacrimation, mixed injection, pupil is more narrow, then on the right eye, iris picture is smoothed. What is the diagnosis?

1. Acute conjuctivitis. 

2. Iritis.

3. Iridocyclitis.

4. Keratitis.

5. Congenital glaucoma.

10. Patient A, 42 years old. Diagnosis: acute iridocyclitis with hypertension in right eye. What clinical peculiarities are requared for this diagnosis?

1. Vision lowering on the right eye till 0,1, correction doesn’t improve.

2. Irregular pupil form.

3. Pigment precipitates on posterior cornea surface.

4. Pericorneal injection, fibrin membrane in pupil, eye pressure = 31 mm.

5. Bluring of vitreaus body.

